| number of missing inner layers

1E - —| Entries 1770
E : + | Mean 0.3576
r : 1 [std Dev 0.6883
: : T I
Tttty TEntries 1770
F : Mean 0.3576
C . |LStd Dev 0.6883
O EE I e tei..fi..oi.l..
107E . [Entries 1775
F ' Mean 0.3521
B : |_Std Dev 0.6801
10’35— ------------------ heeeek .-..|

mean hi

<hits>vs n

S ST TOO FTY VAT AT

0.95
0

1 2 3 4 5 6 7 8 9 10

| number of missing outer layers

- Entries 1770
+ | Mean 1.242
. Std Dev 2.141
1 1 . : I
106 " Entries 1770
E Mean 1.242
o Std Dev 2.141
-2 it 1
10 Entries 1775
Mean 1.239
3 Std Dev 2.137
107 e e P
107 R
> S A S [
10 :
o 1()6@_ 4 N B B
5 Mt
0.95F : :
0 5 10 15 20 25

=== DQM_original_originalvector_1000evt
=== DQM_original_1000evt
m— DQM_fitted4_1000evt

20
18
16
14
12

10

2 [ :
T r i i
il |
1 || g :
09532 1 0 1 2 3
track n
[ N of simulated tracks vs pT |
Entries 19929
St L A Mean 0.8562
10 Std Dev 2.348
: [
: Entries 19929
-2 I .. I Mean 0.8562
lo _F . Std Dev 2.348
E : : T
[ : : Entries 19929
-3 T T Do ] Mean 0.8562
10°F : : Std Dev 2.348
107 B A peeeees
1070 e preeeee SRR N B MR
—6- I RPN B
01093 i B y
T RHHEN T
L LI
T |
0.95C H : H s
107 1 10 102 P [}0

10?
.| Entries
| Mean
" std Dev
10k
1=
o e
T (T4 14
e [ +
e
995 10 15 20 25 30 35 40

[ N of reco track vs pT |

track hits

Entries 54269
Mean 2.085
Std Dev 19.93
""" T
Entries 54269
Mean 2.085
Std Dev 19.93

: T
Entries 54355
Mean 2.048
Std Dev




	Contents
	Page 1


